ISVIR/E= I P T

1
i
b
Tl
+

41 PR 30 EEE I RIX M R RR SR



EREBRAKREXSZFVHFHEROBE

1 B Rk (HAT: 1)
?ﬁEBOETE SRR 294F B AT AR R
CEMR314E3 1 31 H BAE) CFA304E3 A 31 A BLLE) (%)
B REDHE
DB & PE 991,140,728 1,339,903,558 A\348,762,830 A26.0
& & P 0 0 0 -
ITBUYPE 0 0 0 —
W38 M P 0 0 0 —
HEY) L 0 0 0 —
A7 TEME 0 0 0 -
Y — R 0 0 0 —
Y7 =T 0 0 0 -
TEFAR ) E 0 0 0 —
V7 NU = TR E 0 0 0 —
wEZEOMOEE 0 0 0 —
BEDOH AR 991,140,728 1,339,903,558 A\348,762,830 AN26.0
=V {ok
ENAAE 24,843,249 21,495,182 3,348,067 15.6
[ 2 A 0 0 0 —
AEOEAFT 24,843,249 21,495,182 3,348,067 15.6
IERRIPE DA 5 966,297,479 1,318,408,376 A352,110,897 AN26.7
2 fTBa ARG R E (HAN7: 1)
RS0 RO - o
El SERE 30 4E 48 1R ElOSERE 29 4R 48 1R PERAE e
[E%ﬂimisﬂma} {ﬁ%ﬂisoimsm} (%)
ITBUA 12,654,579,295 14,027,155,985 NA1,372,576,690 AN9.8
TBE A 12,878,385,195 13,748,412,225 A870,027,030 AN6.3
ITBU G GERR AN\223,805,900 278,743,760 /502,549,660 A\180.3
A A 4,992 6,242 A1,250 A20.0
At H 0 0 0 —
AN S FERR 4,992 6,242 A1,250 A\20.0
I SGERR A\223,800,908 278,750,002 502,550,910 A\180.3
RN 2,255,956 2,823,576 Ab67,620 A20.1
el % A 130,565,945 0 130,565,945 aa
RERIIN S 258 128,309,989 2,823,576 A\131,133,565 X%
YA S =R A352,110,897 281,573,578 /633,684,475 AN225.1
SRR E D ZFHN R E LB RIS | EFRRET D,
3 Fyvia-Tu—EHEE (BAZ: 1)
PR30 TR N .
Bl PRk 30 4R 48 1H B Pk 29 4E 48 1H PERAE s
[E%ﬂimisﬂma} {E%ﬂiwisﬁsm} (%)
TBCY— B ATREILA 12,382,849,663 13,808,955,514 A1,426,105,851 A10.3
{TECY— B ATRE) 3 H 12,662,502,202 13,606,244,348 A\943,742,146 A6.9
ITBOY— B ATRBIN S 240 A\279,652,539 202,711,166 A\482,363,705 A\238.0
T B AR S B E VBN 0 0 0 —
P B AR S5 B TG B 3 0 0 0 —
P B AR S BT BN S AR 0 0 0 —
B TEEIA 0 0 0 —
B TR BN 3 HY 0 0 0 —
B TR BN S 2255 0 0 0 —
& AN\279,652,539 202,711,166 A\482,363,705 A\238.0
AT EE 2> & O il 482,094,801 279,383,635 202,711,166 72.6
FEFUL S 202,442,262 482,094,801 A\279,652,539 /Ab8.0
SR 30 ERE ROt X I EsEE R 42




EEdER(EREBERERKRSEER

TRE314E3 H 31 H

HUE

&T)

(BAZ - )

# A

& H

# A

& H

G REDE

{;IL@J/%F&
H4TEA
Mlﬁﬁ
Bl AR %
PRIBEHI AR 7
Z DAL AR 7
EN TV Ci-CIEE:
FEFENT 4
W B B I 4
el 5L 4
B4
SR 5] 2 4>
Z OAthFRENE PE
11 [ & & pE
1 1TBY e
() BARETEE
T
)
TAEW
SEAR
RGBS
(2) TR [ & PE
2 5@ e
() BARETEE
T
(<L)
TAEW
SEAR
TGS
(2) MR [ & PE
3 EHEY)

A4 7 TEE
() AREEEE
+
L PLIAk
(2) B [ & PE

51 —AERE

67 b T

T A E

8V 7 by TIRENE

9 FEZ DM OEE
HAMHRES M ONHE 4

HAMRES:

H& 4 - e 4
E#EM4
SR 5] 4
Z DAt & HE
FABTE A

Dak A 4

e B R

TE KA TE 54
T DA PE 5

991,140,728
202,442,262
1,016,101,016
0
1,005,049,340
11,051,676
A227,402,550
0

eNeleleoleloleleolelieolololololeoleoleolololoNeloNololeleoNeleololololeNeNeNeNeNo N o NoNo el N N o)

BEFE DES
%%ﬁﬁ
TR R4
MR I X A
A N4
U — 2 EB
ReFh4x
H 5544
Z O Eh E
10 [& & Al
FERI X A&
EHIEA S
U — 2B
IRIRAS 55 % 4
Z Ol E B

24,843,249
19,131,911

SRS

Tl

+

24,843,249

IE BRI PE DT
IERRRPE
(9 BIEBRR PE S IRRR)

966,297,479
A\352,110,897

IE WY PEDEL & i

966,297,479

EPEDEAF

991,140,728

BUE K DNERBS PE D&

991,140,728

43

PR 30 EEE I RIX M R RR SR



TERARMIEE (ARBRARRERRED)

H FER304E4H1R ~ F  ERks14E3H31AH (BT 2 )
B H & KA
UL S O
I 1TBU 3 D
1 4TBU A 12,654,579,295
1 X 0
M5 R 50 0
5 BB A A 4 0
MR DX B R AR A5k 4 0
F DA A4 0
TR 4,224,353,365
[E] JE 32 HH 4 0
¥ 4 7,324,817,864
Srigs R VA4 0
5 R R OV R 48,300
A PEIR N 0
FEILA 55,359,766
TR 4 0
YN 1,050,000,000
Z OMATEUA 0
24T B 12,878,385,195
NG ¢ 140,398,562
Wit 197,971,772
HEFF S 0
7k =4 0
B 12,306,900,973
g Adio] o el 0
H& 4 - HIE 4 0
M4 0
TR 18 E 2 0
PR AT E SN 0
N VS GRS YN 227,402,550
SR 5| 2 A AR 0
B 5512 4k A FE 5,711,338
1NEkAS 5-5 | 24 s A BH 0
Z OMATEE 0
[ TTBOR G R 223,805,900
I 43 U S
1 A A 4,992
Z RS M OVAE 24 4 4,992
2 & A 0
eI X AEF 1 0
eI K AR AT E 0
Z O AT 15 0
BT 4,992
TR I S ERR A\223,800,908
RIS DB
1 BRI 2,255,956
& & & PEFT AR 0
Z DRI 2,255,956
2 W5 130,565,945
& & & PEFT AR 0
[ 2 & PERRAENE 0
KEHEIRE 0
R ABHH 130,565,945
EEHE R 0
Z D EERIE 0
I S %8 A 128,309,989
U Y S 4 A352,110,897

PR 30 ERE X E R R

44



Fyvia-J0—iEE(BRBEARKREERE

H Fak304E4H1H ~ F Epk3143H31H (HAL - M)
B H I B B &
[ 478 — & A58 142 0 A S5 H E TE B
1178V — B RATEEDI A 12,382,849,663 1 AR AR S RO TR BN A 0
N 0 [ o 2 H 0
I 0 6] o 52 1 0
Hi 15 38 B 0 W 4 0
7 1A o 4 0 IS4 R M A 0
O 1) K S B R A o 4 0 YN 0
Z DA 4 0 FAPEILA 0
[ 5 1 0 FARE TR EAM A 0
=2 4 7,324,817,864 PN A 0
EBIA 5,058,026,807 PR 4 0
LR 3,953,933,738 VA5 He 4 0
e T OV 4 0 i H 34 0
o P BH I, OV OB 48,300 A e 0
FAPENLA 0 b4 A 0
HAON 54,044,769 Z DAL S EAREE G 0
SIS 0 TEBILA
AL 1,050,000,000 2 Hh 2 ATl 5 TR B 5 0
IS TN 4,992 R AN 32 0
= RS M OVBE 24 4 4,992 Wy iH- 0
21T — B RAIRE 12,662,502,202 B 5 0
1TBCE 12,662,502,202 BB R 0
N2 145,806,458 A4 0
Wy iH-e 197,971,772 BB R 4 0
HeFEIE 0 Wittt Kol 0
L 0 i H 34 0
B 5 12,318,723,972 TERETE ) JL 4 0
BT 0 Bht 4 - B4 0
HIE 4 R 4 0 b 0
4 0 e 0
G 0 HiE 4 R 4 0
I AR T BT B 0 R 0
T OMEARFIF 0 || st a Al s i B S 2 0
=
%iéjéﬁu;ﬁ%%im 8 ITEIRE S v = 7o — I K % AN279,652,539
TTEC— E A GBI 2 A279,652,539 || i@
1 BB IE B A 0
AR X A 0
i ST TIN 0
YN 0
Z Ot A &% 0
2 MIBTEBI X 0
Nt 0
STy 0
Z O AR 0
HA PTG BN S S5 % 0
X2 =58 A 5 AN279,652,539
HTELE 7 B DR & 482,094,801
TN 202,442,262

45

PR 30 EEE I RIX M R RR SR



6L7°L62'996 BIE LES0LY 0 0 0 0 0 86L7€8°9€0°T BN I
o - (Hxbe)
168011268 16801125 0 0 0 0 0 0 - j
5725 0 17
ELERS T2 |4
0 0 0 0 0 0 0 0
R RAT O
¥l
0 0 0 0 0 0 0 0 g
2 IRl
¥lEr
0 0 0 0 0 0 0 0 N
B A
L68°0T1°2GEY L680T1°26E™ 0 0 0 0 0 0 B RAS
9,£°80¥°81¢ T 816°CLG° 182 0 0 0 0 0 86.7€8°9€0°T fel 2 [fif H
w
/\HV
=t HY Y
& (e, i1 [is IR
2 & |& i NP < EN
[igte | % N & H =
T &y E @ H x X%
< @ 4£ S H % H( g
x S2 =2 = 4% Ed B
Ho oy dr
(H * 7Y) HISHeHISH AR £ ~ HIHVH0eN A H

(ESxEIHEHFIE ER EEZH T

46

HES

S
%

gL X i

PRk 30 4R



32

TEH L0 £4

LFLN LA

HB L)

H PR

(=} Beh Bel Bel B=2 E=]

(=} Beh Bel el B=2 E=}

(=} Neh Bel el B=2 k=]

(=3 Beh Bel Bel e =

(=} Hol Bl N K=l k=]

(=} Beh Bel el B=2 E=}

(=} Beh el el =2 =}

H Ly

1 2

)

HE Y — (0

Yo ram

CEEE

HBL LA

Wy

A

¥

&) T

e

-

P ER

A

N

&) T

EE

T

(=3 =i Bl ol Bel E=2 E=2 =)l el el el el el Holl E=l el Rl k=

(=3 Nl Rell Hell Bel E=2 K= =k el el el iel el Nol E=2 B=) I i)

(=3 F=i Bl Hell Bl E=2 K= =) el el el el el Holl E=l Bel Nel K=

(=3 Nl el el He il =0 E=j el el el el =2 =l el ey el Bel Be)

=l Nl HoX =2 k=l K=l i=) ol Nl Hel o)l Bel Nel Hol Joll R=l R=] Re)

(=3 Nl Rell el Bl E=2 K= =l el el el el el Nl E=2 =l =) i)

(=3 F=i Rl Holl Bl E=2 K= =) el el el el el Heoll Rl B=l Rel Re)

H Ly

HBDEAHE

H

¥

1lif=3

K4

1
N
gl

Uy B

K
e
@

=

o

& <o

1

—
o

=

i

(H * ¢

{¥

*

i

Hh e R s

TR 30 4 EE

47



